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Practice Problems and Applications

MA 3 ,_-1 1. State whether each slope is positive or 14. The gr.lph shows how far L‘J:mn;:l cye !f:d

negative,

—

© Time ()

a) About how tar did he travel in 2 h 45 min:
b) About how long did it take him to cycle
g‘mf.,nt 15 kim? o

C o e _ $ ¢) What does the slope of this line tell you?

15. a) On the same grid, draw a line thmugh

A(l, 4) and B(-2, 2y and a line thruugh

P(~1, -1 and Q(2, 1.

b) Calculate the slope of each line in part a),
E ¢) Use your answer to part b) to explain Wi'ljr

these lines are parallel.

16. a) Plot the points P(-4, 2), Q(-1, =2),
R(4, —2), and S(1, 2). Join PQ, QR, RS, and §
b) Draw diagonals PR and QS.

g ) The diagonals PR and S are
perpendicular to each other. Find the slope
of each diagonal. How are the slopes relared?
d} Is this relationship true for any pair of
perpendicular lines?

1 State the slope and the equation of each

17. The lengths of 2 ski slopes are 625 m

and 760 m. The horizontal distance from the
start of the run to the end of the ran for both
slopes 1s 300 m.

_ ‘ . _ a) What is the height of the higher ski slope
Deetermine the slope of the line passing I.E?rmfg.& 1o the nearsst metees

each pair of pornts. ﬂ b) Which of the 2 ski slopes is steeper? Explai
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Solve each system by graphing. . -b
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